







```
13. Rewrite the following equation in transformational form: y = 3(x-1)^2 + 2

a) (y+2) = 3(x-1)^2 (b) \frac{1}{3}(y-2) = (x-1)^2 (c) 3(y-2) = \frac{1}{3}(x-1)^2 (d) 3y-2 = (x-1)^2

y = 3(x-1)^2 + 2(3F)

y-2 = 3(x-1)^2

y-2 = (x-1)^2

14. Rewrite the following equation in transformational form: y = 3x^2 - 12x + 5

(a) \frac{1}{3}(y+7) = (x-2)^2 (b) 3(y-7) = (x-2)^2 (c) -\frac{1}{3}(y-7) = (x+2)^2 (d) 3(y+2) = (x-7)^2

y-5 = 3(x^2-12x+5)

y-5 = 3(x^2-12x+5)

y-5+12 = 3(x^2-14x+4)

y+7 = 3(x-2)^2

y+7 = (x-2)^2 (TF)
```

```
15. Place the following functions in both standard and transformational form:

a) y = x^2 + 12x + 40 b) y = -2x^2 + 8x - 10
y - 40 = x^2 + 12x
y - 10 - 36 = (x^2 + 12x + 36) y + 10 = -2(x^2 + 1x)
y - 4 = (x + 6)^2 y + 10 - 8 = -2(x^2 + 1x + 4)
y + 2 = -2(x - 2)^2
(SF) y = (x + 6)^2 + 4 (SF) y = -2(x - 2)^2 - 2
(TF) (y - 4) = (x + 6)^2 (TF) - 1(y + 2) = (x - 2)^2
2) y = 3x^2 + 12x
y = 3(x^2 + 4x)
y + 12 = -2x^2 + 14x - \frac{1}{2}
y = 3(x^2 + 4x + 4)
y + 12 = -2(x^2 - 7x)
y + 12 = 3(x + 2)^2
y + 12 - (3x^2 - 2(x^2 - 7x) + 49 + 1)
y + 12 = 3(x + 2)^2
y + 2y - 3y - 2(x - 7y - 2)^2
(SF) y = 3(x + 2)^2 - 12
y + 2y - 3y - 2(x - 7y - 2)^2
(SF) y = 3(x + 2)^2 - 12
(SF) y = -2(x - 7y - 2)^2 + 24
(SF) - \frac{1}{2}(y - 24) = (x - 7/2)^2
(TF) - \frac{1}{2}(y - 24) = (x - 7/2)^2
(TF) - \frac{1}{2}(y - 24) = (x - 7/2)^2
```